3rd Term Q.O.D’s




1-13-2020
1.
Sometimes, large meteoroids enter the atmosphere of Earth and reach the ground.  Scientists identify possible impact sites when they find…

A) Carbon deposits
B) Volcanic material
C) Strick-slip faults
D) Bowl-shaped craters 

Answer= Bowl-shaped craters
1-14-2020
2.
Which of these will MOST likely result from small meteoroids entering the atmosphere of Earth?

A)  a decrease in air temperature
B) The appearance of shooting stars 
C) A decrease in atmospheric ozone
D) The appearance of the Northern Lights

Answer= The appearance of shooting stars
1-15-2020
3.
[image: ]
A) Planet 1
B) Planet 2
C) Planet 3
D) Planet 4
Answer=  Planet 1
1-16-2020
4.
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A) 1,2,4
B) 2,3,4
C) 1,2,3
D) 1,3,4

Answer= 1,3,4

















1-17-2020
5.
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Answer= Uranus and Neptune


QOD (2)
1-21-20

#6.

Why is it safer to look at the Moon than it is to look at the Sun?

A.  The moon is less bright
B.  The moon is closer to Earth
C.  The Moon shines mostly at night
D.  The moon is full only once a month

Answer:  The moon is less bright


#7
Which event occurs only twice each year?

A.  lunar eclipse
B. full moon
C.  equinox
D.  low tide

Answer: equinox


1-22-20
#8
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Which Season is indicated by the X?

A.  Spring
B. Summer
C. autumn
D. winter

Answer: summer

1-23-20
#9
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How Many degrees is Earth tilted?

A.  16.5
B. 23.5
C. 32.5
D. 66.5

Answer: 23.5













1-24-20
#10
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Which location in the diagram receives the MOST direct sunlight?

A.   30 degrees North
B.   The equator
C.   30 degrees South
D. The South Pole

Answer: 30 degree South

1-27-2020
#11
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Answer: about the same as its revolution
1-28-2020
#12
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Answer: equator
1-29-2020

#13
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Answer: Sun, Moon, Earth
1-30-2020
#14
[image: ]
Answer: Seasons would be shorter





1-31-2020

#15
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 Answer: 21


2-3-2020
#16
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Answer:  Changing of the seasons



2-4-2020
#17
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Answer:  The changing of the seasons
2-5-2020

#18
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Answer:  First Quarter



















2-6-2020


#19
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Answer:  3





2-7-2020

#20
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Answer:  Full Moon






2-10-20

# 21
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Answer:  by pointing the top of the skewer toward the flashlight












2-11-20

#22
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Answer:  Edinburgh is tilted toward the Sun in the summer, so it is exposed to more sunlight.

2-12-20

#23

[image: ]

Answer:  distance between the planets

2-13-20

#24

[image: ]

Answer:  gravitational pull of the Sun

2-14-20

#25

[image: ]

Answer: gravity

2-17-2020
#26
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Answer:  because Earth tilts on its axis
2-18-2020
#27
[image: ]
Answer: winter

2-19-2020
#28
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Answer:  galaxy


2-20-2020
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Answer:  Earth’s gravity


2-21-2020
#30
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Answer:  gravity


2-24-2020
#31
[image: ]

Answer: they are all attracted to each other by gravity


2-25-2020
#32
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Answer: an orbit created by the force of gravity

2-26-2020
#33
[image: ]
Answer: gravitational pull of the sun
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#34
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Answer: gravity
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The diagram below shows latitude lines on Earth on a particular day.
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The Moon’s rotation is

faster than its revolution.

slower than its revolution.

half as fast as its revolution.

about the same as its revolution.
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As Earth revolves around the Sun, the number of daylight hours varies from place to place. In which
location would the number of daylight hours remain constant?

A) North Pole
B) Prime Meridian
C) Equator

D) Antarctica
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‘Which of these shows the correct order needed for a solar eclipse to happen?

A) Sun, Earth, Moon
B) Sun, Moon, Earth
C) Moon, Sun, Earth

D) Moon, Earth, Sun
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If Earth revolved at a faster rate, what would MOST likely occur?
A) Annual rainfall would increase.

B) Daylight hours would decrease.
C) Seasons would be shorter.

D) Annual temperature variation would be greater.
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Use the diagram to answer the question that follows.

A B

Approximately how many days will pass between phase A and phase B of the moon?
A) 7

B) 14
c) 2

D) 28
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Martin is writing a report for science class about how the tilt of Earth affects living organisms. Which
subject should Martin include in his report that is directly affected by Earth’s tilt?

A) night and day
B) cloud formation
C) phases of the moon

D) changing of the seasons
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‘Earth orbiting the Sun causes
A) the changing of the seasns.

B) daly idal ycles.
) day to become night.

D) the phases of the Moon.
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For a science activty, Mia had to draw a picture of the Moon each night. If Mia drew a new moon,
‘what type of moon did Mia draw about one week later?

A full moon
8) newmoon
©) st quarter
D) wasing gibbous
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Earth sun
Note:Not 0 sale

Which number represents the area of Earth receiving the MOST energy from the Sun?
A1

8 2
o3
D) 4
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‘diagram shows the position of the Moon during its orbit around Earth.

I which phase is the Moon when in the posifion shown in the diagram?

A) newmoon

E)
©) last quarter
)
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Giselle uses a flashlight, a foam ball, and a skewer to show the relationship between Earth and the
Sun.

Skewer

Fiadnight

Foam Ball

T the position shown, the model represents summer in the Southern Hemisphere. How can Gisclle:
‘change the model to represent summer in the Northern Hemisphere?

7). by tuning the ashlght away from the foam ball

B) by pointing the top of th skewer toward the flashlight

) by making the foam ball hang lower than the ashlight

D) by increasing the distance between the foam ball and the fashlight
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Scotland receives 173 hours of daylight in the summer and 7 hours of daylight in the

Location of Edinburgh, Scotland on Earth

Which BEST explains the long summer days in Edinburgh?
A) Earth s closer o the Sun i the summer, so more of the rays of the Sun reach Edinburgh.

8) Edinburgh s tilted toward the Sun inthe summer, s it is exposed to more sulight.
©) The ate of rotation of Earth changes 2 the seasons change, exposing Edinburgh to more sunlight.

D) The location of Edinburgh near the Arctic Circl resultsin the city receiving direct sunlight in the
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‘The magnitude of the gravitational force between two planets depends on the
) speed the plantsroae.

B) other nearby planets.

©) vohume o the planets.

D) distanc beteenthe plants.
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Planets in the solar system are in constant motion. What factor has the greatest effect on the orbits of
the planets?

A) the size of the planets

B) gravitational pull o the Sun

©) the composition of the planets

D) electromagnetic radiation from the Sun
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planets in orbit around the Sun?
A) airresistance

8) friction
©) gravity
D) magnetism
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On January 15th, there were 10 hours and 24 minutes of daylight in Jacksonville, Florida. On the
same day,there were only 9 hours and 37 mimutesof daylight in New York City. Why &id New York
‘ave fewer hoursof daylght than Florida?

A) because Earth rotates
B) because Earth tilts on s axis
©) because gravity pulls Earth toward the Sun

D) because the Moon reflects sunlight onto Earth




image23.tiff
Drew knows that Earth is tilted on its axis. He also knows this tilt is responsible for the season that a
region on Earth will esperience. When the South Pole is tilted toward the Sun, what season will it be in
Florida?

A fl

B) spring

©) summer

D) winter
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‘Which of these can be described as a system of stars, gases, dust, and other matter that orbits a
common center of gravity?

A masteroid
) aglay
©) anebua

D) acomet
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‘What keeps the Moon orbiting Earth?
A) the Sun's gravity

B). the Moon's rotation
©) Earth's rotation.

D) Earth's gravity
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‘Which is a force that keeps the planets in orbit around the Sun?
A) inertia

B) gravity
©) magnetim
D) solarenergy




image27.tiff
The Milky Way is a part of 30 or more galaxies called the Local Group. Which would be the MOST
likely reason these galaxies are considered to be part of the Local Group?

A) They are all the same type of galaxy.
B) They all have the same number of stars.
C) They are all attracted to each other by gravity.

D) They can all be seen without the aid of a telescope.
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‘Which characteristic is shared by Earth and the Moon?
A) glaciers

B) flowing water
C) an atmosphere that contains oxygen

D) an orbit created by the force of gravity
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Planets in the solar system are in constant motion. What factor has the greatest effect on the orbits of
the planets?

A) the size of the planets
B) gravitational pull of the Sun
C) the composition of the planets

D) electromagnetic radiation from the Sun
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‘What keeps the planets in orbit around the Sun?

A) air resistance
B) friction
C) emavity

D) magnetism
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‘The drawing represents some planets at various distances from a star.

O O O O

Planel Plane! Planel Planet

‘Which of the planets will take the shortest time to orbit the star?
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Dr. Sanchez is an astronomer who works at an observatory. He studies many objects in
the solar system. Through observation, he can identify and describe the characteristics
of objects he studies. The table shows some of the characteristics he s able to observe.

Characteristics of Objects
in the Solar System

1 | Gomposed of metal and rocks

2 | Form tails when they pass close to the Sun

3 | Orbit the Sun in the same direction as the planets

4 | Usually orbit the Sun in a belt between Mars and Jupiter

‘Which numbered characteristics could Dr. Sanchez use to identify an object as an
asteroid?
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The graph below shows the diameters of the planets. The diameter of a planet is the distance from oneside to the
other through the middle at the widest part.

Planet Diameters
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‘Which two planets are closest in size?
A)Uranus and Neptune

B)Venus and Mars
C)Jupiter and Saturn

D)Mercury and Earth
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‘The graph below shows the sunrise and sunset times for a city during a one-year period.

Sunrise and Sunset Data for a City

Time (p.m.)

— Sunset
Sunrise

Date
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Earth’s axis of rotation is tilted relative to the plane of Earth’s orbit.





